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4-2 Find the Missing Number'

Warm Up:
Six|less than|four|times)a number|[ig 42.
What is the number?

N

(2) Box keywords and translate info equation.
. (3) Solve the equation for the missing values!

LY N=tve NuMmb-er L(4) Did you answer the question? /
S0
4N = ‘-P?s N=\Z
Example 1: Eight[more thanffwicela number fis\ | Example 2: Nine/less thar Threelhmes a
28. Find the number. number{i§)54. Find the number. | €+ 1= 2
Ley n=numb-ec ,
IN-4 =54
2N +§ - 28? Ll A |
= 3N =L3
2N = 2_9 —_g,m 3
i . {w-m S
Y1 = 2\|
Ha=aey L
1) Ninel?n?r‘e than)a number@l& Findthe |[(2) A number'ldecr'eased [by 10@16. What is
number. ey V= X the number? | e+ M=t
N~ N-10 =106
g 'é I’ D -l* ID
0= )
(3) Eleven [ncr‘eased by ftwicela number@ﬂ. (4) Eightlless thanfiveffimesja number[is)22.
Find the number. €+ N= # Find the number. Let+ n=#
L+ 2N =7 En-g=22
1] —il vk L&
2n=4 60 =30
z Z S =
(5) Sixteen is five less than 7 times a (6) If three more than eight fimes a number
number. What is the number? is -29, what is the number?
l(p T ) 3‘\'8“‘-‘-:23
S e
— — 3n-=-32 [n=-%)
21 = D N-=2 -%,—Q 5 | Al

= -7




Example 3: Ten|less thanffwice)a number fis/the
~same as 7!‘rimes fthe number. Find the number.

Example 4: A numberjiﬁcreaseﬂlby 3Qisp4
decreased by 3 fimes/the number. Find the

Let N=num ber number. Le+ Nn=humber
_Zy-1o=11n N+30 =14 -3n
o +2n -+ 29N
-10 = 5n 2 -
g N+ =1
5 5 R R
-2 =N Mn="l [Nn=-4
fz=n) £ ="fe (0=
7) Nine)_nlgre Than] 5 ffimesja nurME (8) Twice a number is the same as 6 more
equivalent to 2[fimes)the number. Find than 8 times the number.
the number.
g+ 5 = 2N 2Nn =0 f ?'f))
-8n -2n e =Re
9 =-3n N =L
-3 -3 -G b
= -\
-3 =N n A
(9) Seven less than 6 times a number is the | (10) Five times a number is equivalent to 30
same as the number decreased by 2. Find more than 8 times the same number.
the number. What is the number?
= N
N-7=N-2 bn = 20+8
-—('pn = —an 14
5 h:_ == % -30 = 30
)= NnN=1\
= = (n == D\

(11) A number plus three more than that
number is 17. What is the number?

(12) Six more than a number, increased by
that number is 40. Find the number.

+rNn +N =4O

2N+ if = 40
2n=2¥ (1]

N =>4

=z 7
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A,mmﬂeéif”VG*"nes%kéé&&(&fd%ﬁﬁbé‘wlfl
ran

*;:15 Find the number.,

Example 6: Six times the dif ference of a
number and 4 is 30. Find the number.

(13) Five more than a number is 4 times the
sum of a number and 8. What is the

number? /{ﬁtﬁ\: NnumMber
54n = H(N+8)
Bary — H0N+ 37
—_ﬁ =
5 = 20+ 39
-22 3o
el %o | (\—:";0\

(14) Three times the sum of 4 and a number
is the same as 18 increased by the
number. Find that number. (€4 = =3

Se)= 18+ N

S AL = U D
30 N
\Y =\
BT 4}
$-% B9
SR

) Twice the sum of 6 and a number is the
same as 15 decreased by the number.
Find the number. [ £+ "\ = m

(15

=
2(n+L) =15-N
N = \5-Y)
i
20+172 =15
e
3n=3

(16) Eight more than three times a number is
the same as twice the number decreased

by 6. Find the number. Let N=%

S+3IN=2n-L
—2n -2n
4N =—"L
=5 T




